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CS402:Quiz # 1 Quiz Start Time: 08:35 PM. 12 December 2019

Question #6 of 10 ( Start time: 08:44:41 PM. 12 December 2019 ) Total Marks: 1
Let's suppose we have Ri= (oc-yy) and R2=(x- y). Union of R1 and R2is

Select the correct option
|oxeyy)xc+y)
(@) 4
(Goxryy) ey
(@) 4
(Goxryy)lery)
(@) 4
(bocryy)eteey))
(@) 4
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CS402:Quiz #1 Quiz Start Time: 08:35 PM. 12 December 2019

Question #7 of 10 ( Start time: 08:45:25 PM. 12 December 2019 ) Total Marks: 1
[The minimurm length of the strings(except null string) of a language that starts and ends in the same letters will be:

‘Select the correct option
i

(@) ﬁ
2

(@) ﬁ
g

(@) ﬁ
n

(@) ﬁ

Aniswer & Move fo Next Qilestion
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CS402:Quiz # 1 Quiz Start Time: 08:35 PM. 12 December 2019
Question #8 of 10 ( Start time: 08:45:51 PM. 12 December 2019 ) Total Marks: 1
[Considering FAT and FAZ having 2 states each. Now FAT+FAZ can have maximum number of states.
4
‘Select the correct option
2
(@) ﬁ
g
(@) ﬁ
[more than 3
(@) ﬁ
[None of the given aptions
(@) ﬁ

Aniswer & Move fo Next Qilestion
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CS402:Quiz # 1 Quiz Start Time: 08:35 PM. 12 December 2019
Question #9 of 10 ( Start time: 08:46:26 PM. 12 December 2019 ) Total Marks: 1
[VWhich of the following regular expressions represent same language?
1. (a+ab)”
2. (bava)
3. a"(@at)
4. @by
4
‘Select the correct option
Tand2
(@) ﬁ
Tand3
(@) ﬁ
3and4
(@) ﬁ
Tand4
(@) ﬁ

{0/ Save An=wer & Moue toNext Qieation
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CS402:Quiz #1 Quiz Start Time: 08:35 PM. 12 December 2019

Question # 10 of 10 ( Start time: 08:47:15 PM. 12 December 2019) Total Marks: 1
IS = {a. b} then which of the following RE will generate all possible strings?

‘Select the correct option

b

(@) ﬁ
(@b)”

(@) ﬁ
@b

(@) ﬁ
(ab = ba)"

(@) ﬁ
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CS402:Quiz # 1 Quiz Start Time: 08:35 PM. 12 December 2019
Question # 1 of 10 ( Start time: 08:35:26 PM. 12 December 2019 ) Total Marks: 1
[Which of the following state is introduced while developing NFA for the closure of an FA?

‘Select the correct option
[Simply an inital tate:

(¢] P

Final state.

(¢] P

[An iniial state which should be final as well

[An iniial state with loop for all letters.

€lick

Vel Aniswer & Move fo Next Qtlestion
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Question #2 of 10 ( Start time: 08:36:48 PM. 12 December 2019)

e vEEE—
Quiz Start Time: 08:35 PM. 12 December 2019

Total Marks: 1

In the context of make NFA for the concatenation of FAT and FAZ (nane accepting null string). which of the fallowing option is correct?

‘Select the correct option

[Nointial and final states in FAT and FAZ respectively

[No final and initia states in FAT and FAZ respectively

(¢]

[Noinitial state in FAT only

[No fnal state in FAZ only

(€lick {0 Save Answer & Move {0 Next Que
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Question #3 of 10 ( Start time: 08:41:26 PM. 12 December 2019 ) Total Marks: 1
Every can be considered to be s well, but the converse may not be true-
4
‘Select the correct option
[NFAFA

TGFA

[FANFA

[None of the given aptions

ck'10 Save Answer & Move {0 Next Question
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CS402:Quiz #1 Quiz Start Time: 08:35 PM. 12 December 2019
Question # 4 of 10 ( Start time: 08:42:37 PM. 12 December 2019 ) Total Marks: 1
[The FA can be drawn for the regular expression (+b)" with rinimum State(s)
4
Select the correct option
i
(@) ﬁ
2
(@) ﬁ
g
(@) ﬁ
n
(@) ﬁ

l€lick 10 Save Answer & Mo

&0 Next Question
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Question #5 of 10 ( Start time: 08:43:49 PM. 12 December 2019 ) Total Marks: 1
[A transition graph s converted into a(n) n order to obtain regular expression

‘Select the correct option
FA
(@) ﬁ
GTG
(@) ﬁ
INFA
(@) ﬁ
[NFA
(@) ﬁ

(€lick {0 Save Answer & Move o Next Ou




